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| Zerg Player

A Zerg player wants to produce an army to fight against Protoss in early game, and he wants to
have a small army which consumes exactly 10 supply. And he has the following choices:

* Zerglings: consumes 1 supply A= X%
» Hydralisk: consumes 2 supply & \/ X {'9 Y -f) 2 = ‘0
* Roach: consumes 2 supply ¥ = Z K‘f 2 \’] '0 ((/I - \I ‘T%)

How many different compositions can the player’s army have? Note fthat Zerglings are 1ndlst1n

guishable, as are Hydralisks and Roachs. x 2 X‘ 5 3 '
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2 Counting Practice

(a) If you shuffle two (identical) decks of cards together, you get a stack of 104 cards, where each
different card type is included twice. How many different ways are there to order this stack of
cards?
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(b) How many different anagrams of GHOST are there if: (1) H is the right neighbor of G: (2) G
is on the left of H (and not necessarily H's neighbor)?
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(¢) There are 20 socks in a drawer, none of which match. How many different ways are there to
pair up these socks? (Assume that any sock can be paired with any other sock.)
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2 Counting Practice [So [u’fidn WY;"L( u ) -pmm SP-ZD )

(a) If you shuffle two (identical) decks of cards together, you get a stack of 104 cards, where each
different card type is included twice. How many different ways are there to order this stack of
cards?
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(b) How many different anagrams of GHOST are there if: (1) H is the right neighbor of G: (2) G
is on the left of H (and not necessarily H's neighbor)?
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(¢) There are 20 socks in a drawer, none of which match. How many different ways are there to
pair up these socks? (Assume that any sock can be paired with any other sock.)
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, 3 e Find a way to fix orderings when counting. For example, if we’re trying to find the number

of ways to pair up 20 different socks, create pairs by fixing the smallest numbered sock
not yet chosen as the first sock. There is an unambiguous ordering both within each
pairs and between all of the pairs; the smaller number in each pair comes first, and all
of the pairs are ordered by increasing smallest sock. This let’s us compute the result as
19%x17x---x 1. The same idea applies for finding the number of permutations of GHOST
where G comes before H.
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